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QUESTION 1

Which of the following is not a function of WAF? 

A. Defense against brute force attacks on ECSs 

B. Website anti-crawler 

C. Data leakage prevention 

D. Web tamper protection 

Correct Answer: B 

Reference: https://www.huaweicloud.com/intl/en-us/product/waf.html 

 

QUESTION 2

Regarding the storage category provided by the object storage service, which of the following is wrong? 

A. Archive storage 

B. Backup storage 

C. Low frequency access storage 

D. Standard storage 

Correct Answer: B 

 

QUESTION 3

If Cloudbase-Init is not installed for a private image, you will not be able to inject custom information into a Windows
ECS created from this image. As a result, you can only use the password specified in this image to log in to the ECS. 

A. True 

B. False 

Correct Answer: B 

Reference: https://support.huawei.com/enterprise/en/doc/EDOC1100062377/4b42c508/creating-a-windows-private-
image-using-an-ecs 

 

QUESTION 4

Regarding the elastic scaling service, which of the following statements is wrong? 

A. Elastic scaling supports instance protection for specific instances in the scaling group 
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B. Elastic scaling supports health checks on the status of instances 

C. Elastic scaling can automatically adjust the number of instances in the scaling group according to the set strategy 

D. Elastic scaling does not support viewing the status of instances in the scaling group 

Correct Answer: D 

 

QUESTION 5

ECSs in different AZs of the same region cannot access each other. 

A. True 

B. False 

Correct Answer: B 

Reference: https://support.huawei.com/enterprise/en/doc/EDOC1100062377/4f5ef30/region-and-az 
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